

$$a_n = \frac{1}{r} \cdot \frac{1}{r} \cdot \frac{1}{r} \cdot \frac{1}{r} \cdot \frac{1}{r} \cdot \frac{1}{r} \cdot \frac{1}{r} \cdot \frac{1}{r} \cdot \frac{1}{r} \cdot \frac{1}{r}$$

$$q = r$$

$$a_{10} = a_1 q^9$$

$$\frac{1}{r} \cdot \frac{1}{r} \cdot \frac{1}{r} \cdot \frac{1}{r} \cdot \frac{1}{r} \cdot \frac{1}{r} \cdot \frac{1}{r} \cdot \frac{1}{r} \cdot \frac{1}{r} \cdot \frac{1}{r} = \frac{1}{r^{10}} = \frac{1}{256}$$

$$r^9 = \frac{1}{256}$$

$$\frac{a_1 q^9}{a_1 q^0} = q^9$$

$$a_9 = \frac{1}{r} r^9 = r^8$$

$$\sqrt[9]{\frac{1}{256} \cdot \frac{1}{r^9}} = r^8$$

$$\frac{1}{r^9} = r^8$$

$$r^9 = \frac{1}{r^8} \Rightarrow r^{17} = 1 \Rightarrow r = 1$$

$$a_{10} = \frac{1}{r} r^9 = \frac{1}{r}$$

$$a_{10} = 11$$

$$a_{11} = 97$$

$$\frac{a_{11}}{a_{10}} = q$$

$$\frac{97}{11} = q \Rightarrow q = \frac{97}{11}$$

$$a_{10} = a_{11} \cdot \frac{1}{q}$$

$$11 \times \frac{11}{97} = \frac{121}{97}$$

$$a_1 \times q^9 = r^9 r$$

$$(a_1 \times q^9)^r = r^9 r$$

$$a_1 \times q^9 = r$$

$$a_1 = r$$

$$a_1 \times a_{10} = a_1 \times q^9$$

$$(a_1 \times q^9)^r = r^9 r = r^{10}$$

$$r^b \times r^a = r^{\sqrt{r}} \times r^{\sqrt{r}}$$

$$r^{b+a} = r^{\sqrt{r}}$$

$$b+a = \sqrt{r}$$

$$\frac{b+a}{r} = \frac{\sqrt{r}}{r} \Rightarrow \left(\frac{b}{r}\right) = \frac{1}{\sqrt{r}}$$

$$a_{10} = 1 - x$$

$$a_{11} = x$$

$$a_{11} = x + 1$$

$$a_{10} \times a_{11} = a_{11}^2$$

$$(1-x)(1+x) = x^2$$

$$1 - x^2 = x^2$$

$$1 = 2x^2$$

$$\frac{1}{2} = x^2 \Rightarrow x = \pm \sqrt{\frac{1}{2}}$$

$$\pm \sqrt{\frac{1}{2}}$$

$$1175$$

مقدار $\sqrt{\frac{1}{2}}$ را بیست و یک

$$a_1 + a_r = r\Lambda \quad a_1 + a_1 q^r = r\Lambda$$

$$ra_1 = r\Lambda \quad a_1 q^r = a_1(1 + q^r) = r\Lambda$$

$$\boxed{a_1 = 1} \quad \boxed{a_r = r\Lambda}$$

$$0r + a_{1r} = 1r \quad a_1 q^1 + a_1 q^r = 1r$$

$$\boxed{a_r = r} \quad \boxed{a_r = q} \quad a_1 q^1(1 + q) = 1r$$

$$r\Lambda = 1\Delta(1+q+q^2+\dots+q^{r-1})$$

$$r\Lambda q = 1r - 1r q + 1r q^2 \Rightarrow 1r q^r - r\Lambda q + 1r = 0$$

$$\Delta = b^2 - 4ac$$

$$(-1r)^2 - 4(r)(r) = 1r^2 - 4r^2 = -3r^2$$

$$\frac{-b \pm \sqrt{b^2 - 4ac}}{2a} = \frac{-(-1r) \pm \sqrt{-3r^2}}{2(r)} = \frac{1r \pm i\sqrt{3}r}{2r} = \frac{1 \pm i\sqrt{3}}{2}$$

$$q = \frac{1 \pm i\sqrt{3}}{2}$$

$$a_1 + (aq) + a_1 q^r = 1r$$

$$a_1(1 + q + q^r) = 1r$$

$$a_1 \times aq \times a_1 q^r = r\Lambda$$

$$a_1^2 \times aq^r = r\Lambda$$

$$a_1 = 1 \quad a_r = r \quad a_r = q \Rightarrow r = r\Lambda$$

$$b^2 - 4ac$$

$$1r^2 - 4(r)(r) = 1r^2 - 4r^2 = -3r^2$$

$$\frac{-b \pm \sqrt{b^2 - 4ac}}{2a} = \frac{-(-1r) \pm \sqrt{-3r^2}}{2(r)} = \frac{1r \pm i\sqrt{3}r}{2r} = \frac{1 \pm i\sqrt{3}}{2}$$

$$q = \frac{1 \pm i\sqrt{3}}{2}$$

$$a_n = r^{\frac{n-1}{r}}, n, \dots$$

$$S_{1r} = a \frac{(q^{1r} - 1)}{q - 1} \Rightarrow r \frac{(r^{1r} - 1)}{r - 1} \Rightarrow r^{1r} - 1 \Rightarrow \omega q, r\Lambda$$

$$S_{1r} = (a_1 \times a_n)^{\frac{n}{r}} \Rightarrow (r \times a_{1r})^{\omega} \Rightarrow (r^r \times r^q)^{\omega} = r^{1r} \times r^{q\omega}$$

$$b_n = a_{n+1} - a_n$$

$$b_n = aq^n - aq^{n-1}$$

$$b_n = aq^{n-1}(q - 1)$$

$$\frac{b_{n+1}}{b_n} = \frac{aq^n(a-1)}{aq^{n-1}(a-1)} = \frac{aq^n}{aq^{n-1}} = q$$

$$b_{n+1} = a_{n+2} - a_{n+1}$$

$$b_{n+1} = aq^{n+1} - a_1 q$$

$$b_{n+1} = aq^n(q - 1)$$

$$\frac{b_{n+1}}{b_n} = \frac{aq^n}{aq^{n-1}} = q$$

$$S_n = a_1 + (a_1 + d) + (a_1 + 2d) + \dots + (a_1 + (n-1)d)$$

$$S_n = (a_1 + a_n) + (a_1 + d + a_{n-1} + d) + \dots + (a_1 + a_n)$$

$$S_n = \frac{n(a_1 + a_n)}{2} \Rightarrow \frac{n}{2}(ra_1 + (n-1)d)$$

$$S_n = a + a_1 q + a_1 q^2 + \dots + a_1 q^{n-1}$$

$$S_n q = aq + aq^2 + aq^3 + \dots + aq^n$$

$$S_n q - S_n = aq^n - a$$

$$S_n(q - 1) = a(q^n - 1) \Rightarrow S_n = \frac{a(q^n - 1)}{q - 1}$$